—REEVERLSBOEREEORR

TR SRR
T 5% %2 ok =X 7 AR
it KEEEm/\fa6415H

= *ﬁ’éﬁ’)tfﬁﬁ H 108 14H 128168
REDIER i EBGL EBGL
ECI-FAH - - = = - - - - —

HEONE - - - - - - - - - - - -

nezi1o-2AH |4H28 [5H7B [ 648 [7H228[8H198]| 9828 [108148[11A118[12A168| 1H6H [ 28108 | 3H3H
ERGLU ERALU ERGUERAUERAGLUERGUERGUERGUERGLU ERGUERALUERRZU

< <

géacregm| - | - | - - - - T -1 - T -1
HEBONE e e T e e e

,*ﬁ’éﬁOT—EHE 4828|5870 | 6548 |7B22H[8H198]| 9F2H |[10H14R|11A11H|12816H| 186H | 28108 | 383H
= ?ﬁﬁ - ERGLUERGUERGLUERGLUERGLU ERLGLU ERGLU ERGLUERLGLU ERLGUERLGLUERLZY

HEONE - - - - - - - - - - - -

-Efrﬁ’éﬁoti‘pﬁa 4H168| 5878 |6 A18H|7H22H[ 8ASH [ 928 | 1078 | 11H48 [ 12828 | 1868 [ 2A3H [ 3A3H
ERAGlU ERGU ERGUERGUERGLUERGUERAUERGUERAGLUERGUERALUERRZU

= =<

HEONE o e e e e e e

Afezi1ol-% A H | 4AH28 |5H/H |6 H4H |7H22H8|88198| 9H2H |10A148|11A118|128168]| 1568 | 28108 | 3H3H
5 @ﬁ%ﬁa ERGLU ERGLUERGUERGLUERGLUERGLUERGLU ERGUERGLU ERLGLUERLLUERAZU

EEONE e e e e e e e e e

THI3EF3IA3IH
77,482




4-1 KEREHER BRK
AEREAE No1~5 A1EILLE. 2O F1ESE

No. TIRfE EEE

- |EBEREAR - - R2.4.24 | R25.15| R2.65 | R273 | R28.7 | R29.11 [ R2.10.16| R2.11.6 | R2.124 | R3.1.8 | R3.2.18 | R3.35

- |[BREHREREE - - R25.12 | R25.28 | R2.6.17 | R2.7.20 | R2.8.20 [ R2.9.17 [ R2.10.22[ R2.11.12| R2.12.14] R3.1.25 | R3.3.1 | R3.3.16
1[KFRAAViRE KRB - 5.8~8.6 76 1.7 75 15 1.7 1.7 79 8.0 79 1.7 7.8 7.4
2/EMILFEMBEERE 05 10T THRE| 06 | A&l | A& | 07 0.8 0.9 06 | F#H| 07 0.6 1.0
MEEMBRERE 0.5 10LLF 1.2 1.2 1.4 1.6 1.7 2.4 1.6 1.9 2.2 36 | F#&EE| 10
AFEMEE 1 10T TRE | TRE | FHd | TRE | T&YE | Tk | 7HE | %L | TRYE | Tkt 2 TR
5| KGR R 1| 3000 TF | FEd | ARE | FRE | Tl | FRE | FRE | Tl | Tid | 8L | TRE | Fid | FHd
6|7 ILFILKERIEEY 0.0005] #EnimLZE Tt
7|KEBR VT ILFEILIKEEZ DD KERIEEY 0.0005[ 0.0005LLF T
8|HFEVLRUZDILEY 0.001] 0.01UTF T
IR UZDILEY 0.005| O01LLF TR

10| BHBEIELEY 0.1] mtEnmLIE aH

11|AREIOLIEEY 0.02] 005LTF T

12|MBERVZDILEY 0.005] 0.05L4F T

13|71t a 0.1] #EnmLZE TaH

14|7/RJEEEIZ=)L 0.0005| #txhmice T

15|k)oonTFLY 0001 01T NET

16[7 5B FLY 0.001| O01LLF T

17|08y 0.001] 0.2KTF TRt

18|MiE bk % 0.0002| 0.02LLF Tt

19|1,2-Cynox4y 0.0004| 0.04LUTF NET

20{1,1->/aATFL> 0001 02U T

21| 2-12-HonTFLr 0.001] O04LTF TRt

221,1,1-F)onRITAY 0.001 3T Tt

23|1,1,2-k)yO0xTAaY 0.0006] 0.06L4TF Tt

24[1,3-yon7ary 0.0002| 0.02LTF Tt

25|F 05 L 0.0006] 0.06L4TF ENET

26|><wTy 0.0003| 0.03UTF Tt

21| FARU AT 0001 02UTF ENET

28|REY 0.001] O01KTF Tt

29| L RUZTDIEEY 0002 01LLTF Tt

30[1, 4-OFFH> 0.005 05LLTF Tt

3N|IFS3RRUVZDIEEY 0.1 50LLF 0.3

2|5 HRRUVZDILEY 0.08 10T 0.09

33|7rEZT . TUESZYLLAY. ERMBILAMRURMERLE 0.1 200LLF 1.3

/v~y mnEA AR GRRESAR) 1 3LUT &

5[/~ mEnEA AR DB AEESAR) 1 5LLTF &

6|7/ —ILIEBEE=E 005 05LTF Tt

JN|HEF=E 0.01 1T Tt

B|HIREHE 0.05 1T Tt

9 AMUMREEE 0.1 5LLTF &

W[AamHET UiV EEE 0.1 5LLTF &

MlyoLEEE 0.02] O05UTF Tt

R|EREFE 02| 120F 1.9

B|BER=E 0.02 16T 0.08

4| FAF X - 10LATF




4-2 KEREHR #TKERMHA- L)
SAEREHE N1 RU2: A1ELE. ZOM: F1ELE

No. EETHRE e
- |HHERER B - - R2.4.24 | R25.15| R2.65 | R273 | R2.8.7 | R29.11 [ R2.10.16 | R2.11.6 | R2.124 | R3.1.8 | R3.2.18 | R3.35
- |REHEREE - - R25.12 | R25.28 | R2.6.17 | R2.7.20 | R2.8.20 | R29.17 [ R2.10.22 [ R2.11.12| R2.12.14| R3.1.25 | R3.3.1 | R3.3.16
HEER = CES - - 215 25.6 29.3 29.1 30.1 288 27.9 29.8 25.1 25.8 17.4 21.7
2IKFAFVEE OKFEH) - - 6.8 6.9 7.0 6.9 6.8 6.9 6.8 6.9 6.8 6.8 6.7 6.9
3[7ZILFILKERIEED 0.0005| #HEh BN E T
4|#asK 4R 0.0005| 0.0005LLTF THEH
5|hRSY L 0.0003] 0.003LLTF THEH
6|n 0.001] 001LLTF TiEH
7|{fo B L 0.005] 0.05LLTF THEH
B e 0.001] 0.01LLTF 0.002
B ED 0.1|tEhBNIE T
10|7/RIGIEEDT=)L 0.0005| B Eh A& g
1{ryosooTFLY 0.001] 0.03LLTF TiEH
12|F+SH00TFLY 0.001] 0.01LLTF THEH
13[CoooAsy 0.001] 0.02LLTF THEH
14| GRS 0.0002] 0.002LLTF THEH
15|1,2->/0nI4aY 0.0004] 0.0044TF T
16]1,1->yo0TFLY 0.001] 01LTF THEH
17]1,2->9B0TFLY 0.002| 0.04LLTF T
18|1,1,1-~)HYnnT Ay 0.001 1T T
19(1,1,2-k)oopnT A 0.0006| 0.006LLF THEH
20[1,3->HyaR7Aaxy 0.0002| 0.002LLF THEH
2|FHS5 L4 0.0006] 0.006LLTF THaH
2|12=oy 0.0003] 0.003LLF TR
23| FAARAIILT 0.001| 0.02UTF TR
28R 0.001] 001UUTF TR
25> 0.001] 001UUTF TR
26|11, 4-OA XY 0.005] 0.05LTF TR
27|70 TFLY 0.0002] 0.002LLF TR
aﬁ-ﬂwzxﬁ -
M ELDEEE EDOBRIRHM ZAT XV IR R e B A - R

ﬁzm Wﬁ@‘fﬁﬁ""ﬁd)%-ﬁiiﬁwéé = J:%’ao



4-3 KEREHR HTKERMHA- TR
SAEREHE N1 BU2: A1EE. ZOM: F1ELE

No. EETHRE e
- |HHERER B - - R2.4.24 | R25.15| R2.65 | R2.7.3 | R2.8.7 | R2.9.11 [R2.10.16[ R2.11.6 | R2.12.4 | R3.1.8 | R3.2.18 | R3.35
- |REHEREE - - R2.5.12 | R2.5.28 | R2.6.17 | R2.7.20 | R2.8.20 | R2.9.17 [R2.10.22| R2.11.12| R2.12.14| R3.1.25 | R3.3.1 | R3.3.16
HEER = CES - - 66.0 69.3 63.8 72.6 71.8 70.9 71.7 65.1 58.7 54.0 57.1 62.1
2IKFAFVEE OKFEH) - - 7.4 1.7 7.4 15 76 76 76 15 7.2 7.1 7.2 7.3
3|7 ILFILKERILED 0.0005| #HEh BN E T
4|#asK 4R 0.0005| 0.0005LLTF ST
5|hRSY L 0.0003] 0.003LLTF ST
6|%h 0.001] 001LLTF ST
7|{fo B L 0.005] 0.05LLTF &
8|t =% 0.001] 001LLTF ST
BB 0.1|tEhBNIE FSE
10|7/RIGIEEDT=)L 0.0005| B Eh A& g
1{ryosooTFLY 0.001] 0.03LLTF TiEH
12|F+SH00TFLY 0.001] 0.01LLTF THEH
13[CoooAsy 0.001] 0.02LLTF THEH
14| GRS 0.0002] 0.002LLTF THEH
15|1,2->/0nI4aY 0.0004] 0.0044TF T
16]1,1->yo0TFLY 0.001] 01LTF NS
17]1,2->9B0TFLY 0.002| 0.04LLTF T
18|1,1,1-~)HYnnT Ay 0.001 1T T
19(1,1,2-k)oopnT A 0.0006| 0.006LLF THEH
20[1,3->HyaR7Aaxy 0.0002| 0.002LLF THEH
2|FHS5 L4 0.0006] 0.006LLTF ENET
2|12=oy 0.0003] 0.003LLF TR
23| FAARAIILT 0.001| 0.02UTF TR
28R 0.001] 001UUTF TR
25> 0.001] 001UUTF TR
26|11, 4-OA XY 0.005] 0.05LTF TR
27|70 TFLY 0.0002] 0.002LLF TR
9’]’7]':\'-‘/./1;5 -
M ELDEEE EDOBRIRHM ZAT XV IR R e B A - R

ﬁzm Wﬁ@‘fﬁﬁ""ﬁd)%-ﬁiiﬁwéé = J:%’ao



